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pD 4294 0.0
p1 -36.31 0.00
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- 1L gose+us / 25
po 4305+ 0.0
-35.81+ 0.00
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pO 4283+ 0.0
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pO 4300+ 0.0
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po 4258+ 0.0
p1 -35.62+ 0.00
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TVC(cbch) (1,556

©1nu,349e+04 | 25
pO 4301+ 0.0
pl -36.65 + 0.00

TP delay [ns]

TVC(eb,oh)=(1, 5, 10

1000

T4z e+U6 / 25
po 4319+ 0.0
pl -36.65+ 0.00
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~nuiL4zoe+U5 / 25
pD 4299+ 0.0
pl -35.39+ 0.00
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= 1 nu Tyve+ud / 25
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pl -35.49 + 0.00
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pO 4325+ 0.0
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T nu r33e+U5/ 25
pO 4308+ 0.0
p1 -35.45 + 0.00
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pl -36.74 + 0.00
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% i
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“nuz3ure+ud /25
4276+ 0.0
-36.17 + 0.00
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~ 1 nuizbuse+us / 25
pO 4294+ 0.0
p1 -35.13+ 0.00
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T inai 44e+U5/ 25
pO 4282+ 0.0
pl -36.33+ 0.00
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- rnuz6z9e+04 [ 25
4277+ 0.0
p1 -35.62+ 0.00
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© 1L 153e+U6 / 25
po 4300+ 0.0
p1 -34.79 + 0.00
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~ 1 nuiLgu4e+U5 / 25
pD 4275+ 0.0
pl -35.94 + 0.00
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pO 4266+ 0.0
-36.04+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,7,0)

T rve+ud /25
= pO 4242+ 0.0
p1 -35.37+ 0.00

TP delay [ns]

TVC(cbch) (17,4

- 1wz lr9e+ud [ 25
== po 4256+ 0.0
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- 1nu Z1be+u4 / 25
o pO 4254+ 0.0
pL -36.51% 0.00
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TVCEebeh)=(1,7,9

T nuigE3be+Us / 25
4272+ 0.0
-35.6 + 0.0

1
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T nuiLyuse+us / 25
pO 4283+ 0.0
p1 -36.25+ 0.00
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[ p1 -35.5+ 0.0
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TP delay [ns]

TVC(cbch) (17,6

T nun1.43e+06 / 25
e, po 4285+ 0.0
- pl -36.73 + 0.00

TP delay [ns]

TVC(ebeh)=(1, 7, 10

1 nuiLuB4e+U6 / 25
F po 4274+ 0.0
L pl -35.65+ 0.00
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- 1L byse+U5 / 25
4277+ 0.0
-35.31+ 0.00
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T nuiL 3 /8e+u6 / 25
po 4283+ 0.0
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TP delay [ns]

TVC(c,b ch) (1, 7 15

T inup.z4/e+04 [ 25
pO 4288+ 0.0
p1 -35.58 + 0.00

TP delay [ns]
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A~ 1 nui Soae+u4 | 25
= po 4232+ 0.0
p1 -35.94 + 0.00
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TVC(cbch) (18,4

- L 7upe+ud [ 25
== po 4275+ 0.0
pl -37.78 + 0.00

TP delay [ns]

TVC(cbch) (1 8,8

- bzae+0d [ 25
- po 4263+ 0.0
p1 -36.51+ 0.00
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1z, ryse+Us / 25
pO 4292+ 0.0
pl -36.35+ 0.00
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-1 nu.193e+U5 / 25
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p1 -35.97 + 0.00
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pO 4273+ 0.0
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pO 4267+ 0.0
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po 4285+ 0.0
p1 -35.82+ 0.00
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= 1nur 1uze+U5 / 25
= po 4266+ 0.0
p1 -37.04+ 0.00

50 160
TP delay [ns]

TVC(c,b ch) (1, 8

T 4ue+u6/25
pO 4280+ 0.0
-35.79 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 8 15

T inuig1y1e+u5/ 25
e, pO 4289+ 0.0
p1 -35.67 + 0.00

TP delay [ns]
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TVC(cbch) (1,9,0

A~ 1 nun ssae+u4 [ 25
e po 4254+ 0.0
p1 -36.08:+ 0.00

TP delay [ns]

TVC(cbch) (1,94

- UL p4se+u4 [ 25
== po 4270+ 0.0
pl -36.24 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (1 9,8

-z boae+ud [ 25
- pD 4236+ 0.0
-33.89+ 0.00
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| - o
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- pO 4264+ 0.0
p1 -35.79+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 9

-1 nu.2yze+u4 [ 25
- pO 4283+ 0.0
pL -36.69+ 0.00

TP delay [ns]

TVC(c,b ch) (1 9,9

~inaigzu1e+U5 / 25
4261+ 0.0
-34.5+ 0.0

TP delay [ns]

TVC(c,b Ch) (1, 9 13

TinuiLyr3e+us/ 25
pO 4246+ 0.0
pl -34.04 + 0.00
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X~ 1z 1use+u4 [ 25
[ po 4260+ 0.0
[ p1 -36.19+ 0.00
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-1z blbe+ud [ 25
- pO 4290+ 0.0
[ 369+ 0.0

TP delay [ns]

TVC(eb.oh)=(1, 9, 10

T nuiLyroe+U6 / 25
F po 4276+ 0.0
L pl -35.36 + 0.00

TP delay [ns]
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T 1nuizp4/e+U5 / 25
= pD 4253+ 0.0
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= rnui Tose+us / 25
= po 4289+ 0.0
pl -35.94+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 9

T 4/::e+u6/25
pO 4263+ 0.0
pl -33.87 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 9 15

T nuisp1ye+us / 25
pO 4258+ 0.0
p1 -34.12 + 0.00
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- 1 i B8be+u4 / 25
- pO 4242+ 0.0
344+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (1, 10 8

T 1Z3e+U5/25
= po 4287+ 0.0
pl -37.15+ 0.00

TP delay [ns]

TVC(cbch) (1,10,12

FC=29.61[ps/ch] . 1

T rnuizpzre+U5 / 25
4274+ 0.0
-33.77+ 0.00
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- pO 4273+ 0.0
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TVC(c, bch) (1,10,5

-1 nuz.uuye+ud / 25
e pO 4243+ 0.0
pL -35.07+ 0.00

TP delay [ns]

TVC(ebeh)=( 1, 10,9

<1 nub.204e+U5 / 25
4285+ 0.0
-35.8 + 0.0
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TP delay [ns]

TVC(cbch) (110,13

-1 nuiL yve+u5 / 25
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-32.85+ 0.00
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-1 nuz 185e+04 [ 25
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-35.3+ 0.0
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TVC(cbch) (1, 10 10
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1 nuiL345e+06 / 25
DO 4295+ 0.0
pl -36.16 + 0.00

TP delay [ns]
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L C =28.73 [psichI™. 7

- 1L yose+Us / 25
4281+ 0.0
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TVC(c, bch) (1,10,7

- U Yase+u4 / 25
- pO 4273+ 0.0
pL -35.62:+ 0.00

TP delay [ns]

TVC(eheh)=(1, 10, 11

T nan 2,ube+u6 / 25
= pO 4321 0.0
pl -37.95+ 0.00

TP delay [ns]

TVC(cbch) (1,10,15

Tinuizzz(e+U5/ 25
—_ pO 4263+ 0.0
p1 -33.56 + 0.00

[ C=29.80[ps/ch] ™

PR

P B
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (1,11,0)

X~ 1 yzve+U4 [ 25
= po 4262+ 0.0
p1 -37.14+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 11 4

- i Boze+ud / 25
- pO 4264+ 0.0
p1 -35.75+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (1,11,8

i 5Zpe+U5 / 25
= po 4285+ 0.0
pl -36.79+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 11 12

-1y, 1o0e+U5 / 25
= po 4292+ 0.0
pl -35.89+ 0.00
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A- 1LYz e+Ud | 25
e, po 4270+ 0.0
pL -36.39+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 11 5

-1 nuz.41pe+04 / 25
4261+ 0.0
-36+ 0.0

50 150
TP delay [ns]

TVC(cbch) (1,11,9

1 nuiL450e+U6 / 25
- po 4300+ 0.0
-37.31+ 0.00

1
50 00

TP delay [ns]

TVC(c,b ch) (1, 11 13

T inui /18e+U5 / 25
pO 4293+ 0.0
p1 -36.42+ 0.00
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P, po 4286+ 0.0
[ p1 -37.25+ 0.00

3000

TP delay [ns]

TVC(c,b Ch) (1, 11 6

T 3.08e+04 / 25
- pO 4280+ 0.0
- pl -36.06 + 0.00

TP delay [ns]

TVC(eb.eh)=(1, 11, 10

T nuiLg/1e+U6 / 25
P 4315+ 0.0
L -36.6 + 0.0

TP delay [ns]

TVC(c,b Ch) (1,11, 14

X~ 1 iz 39pe+U5 / 25
po 4291+ 0.0
pl -37.19+ 0.00
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TVC(c,b Ch) (1, 11 7

= nuiL z3ge+us / 25
po 4286+ 0.0
p1 -35.89 + 0.00

TP delay [ns]

TVC(Ebeh=(1, 11, 1

T nuiz 128e+U6 / 25
- 4318+ 0.0
-36.7 £ 0.0

1
50 00

TP delay [ns]

TVC(c,b Ch) (1, 11 15)

T nug.usse+us / 25
pO 4299+ 0.0
p1 -37.34+ 0.00
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4252+ 0.0
p1 -34.14 + 0.00
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TVC(cbch) (23,6

1 nue,y43e+04 | 25
e pO 4274+ 0.0
- pl -35.82 + 0.00

3000

TP delay [ns]

TVC(eb.oh)=(2, 3, 10

1 nuiLpoye+U6 / 25
po 4313+ 0.0
p1 -35.94 % 0.00

TP delay [ns]

TVC(Cbch) (2, 3 14

-1y puye+Us / 25
pD 4275+ 0.0
pl -34.55+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,33

A1 wis. 7 zaeud | 25
e po 4265 0.0
pL -35.8+ 0.0

TP delay [ns]

TVC(c,b ch) (2 3,7

“nu /o/e+U5/ 25
pO 4249+ 0.0
p1 -34.96+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 3

T b49e+u6/25
po 4299+ 0.0
pl -35.58 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 3 15

-1 naig.ybze+U5 / 25
Frosee, po 4277+ 0.0
p1 -35.78 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,4,0)

X~ 1w osLe+U4 /25
po 4262+ 0.0
p1 -34.94+ 0.00

TP delay [ns]

TVC(cbch) (24,4

-1 Bebe+u4 / 25
4267+ 0.0
-35.8+ 0.0

50 10'0
TP delay [ns]

TVC(ebch)=(2,4,8

-1 Grverud [ 25
po 4306+ 0.0
p1 -38.26+ 0.00

TP delay [ns]

TVC(Cbch) (2, 4 12

T rugusze+us / 25
po 4294+ 0.0
pl -34.46 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,4,1

AT 1 nuiLbuse+u4 / 25
= po 4247+ 0.0
p1 -34.48 + 0.00

C =29.01 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (2 4,5

=1 nui Yoze+ud [ 25
- pO 4277+ 0.0
p1 -35.84 + 0.00

50 150
TP delay [ns]

TVC(c,b ch) (24,9

-1 nui Ugle+us / 25
pO 4307+ 0.0
p1 -37.14+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 4 13

1 nuiz b4pe+U5 / 25
pO 4281+ 0.0
pl -34.92+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

4000
3000
2000

1000

0

4000
3000
2000

1000

TVC(cbch) (2,4,2)

X~ 1L 8zze+04 [ 25
F-. po 4255+ 0.0
[ p1 -35.28+ 0.00

3000

TP delay [ns]

TVC(cbch) (24,6

1000

T 3r9e+04 [ 25
- pO 4289+ 0.0
[ pl -36.77+ 0.00

3000

TP delay [ns]

TVC(ebeh)=(2, 4, 10

1 nuiLbZpe+U6 / 25
po 4319+ 0.0
pl -36.93 + 0.00

TP delay [ns]

TVC(cbch) (24,14

T nuzg3oe+Us / 25
pD 4284+ 0.0
pl -34.99 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,4,3

A1 nuiz 1z5e+u4 [ 25
e po 4279+ 0.0
pL -36.31+ 0.00

TP delay [ns]

TVC(c,b ch) (2 4,7

S nun 5y3e+04 /25
= po 4283+ 0.0
p1 -36.25+ 0.00

TP delay [ns]

TVC(c,b ch) (2,4,

T bz::e+u6/25
pO 4325+ 0.0
p1 -37.28+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 4 15

-1 nug.yooe+u5 / 25
pO 4286+ 0.0
p1 -34.87 + 0.00

TP delay [ns]



4000

3000

2000

1000

TVC(cbch) (2,50

X~ 1 ruie+U4 /25
= po 4273+ 0.0
p1 -35.78 + 0.00

TP delay [ns]

TVC(cbch) (2,54

- 1L gyse+ud / 25
- pO 4247+ 0.0
p1 -36.34 + 0.00

4000
3000~ 7
2000 - ]
1000 C 7]
1 1 -
50 100
TP delay [ns]
TVC(cbch) (2 5,8)
-1 nuiLQuae+us / 25
4000 [, 4267+ 0.0
-34.38 + 0.00
3000 - ]
2000 - -]
oo C = 29.08 [ps/ch] ™, 1]
1 1 -
0 50 100
TP delay [ns]
TVC(cbch) (2,5 12)
~ 1 nuz485e+U5 / 25
2000 [, pO 4284+ 0.0
pl -34.72+ 0.00
3000 - 7
2000 - 7
1000~ 7]
1 1 -
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,51

A 1 i buaerud | 25
e, po 4266+ 0.0
pL -35.33+ 0.00

TP delay [ns]

TVC(c,b ch) (2 55

= nun 1 3e+04 /25
= po 4260+ 0.0
pl -36.95+ 0.00

TP delay [ns]

TVC(c,b ch) (2 59

~ 1 nui b34e+U5 / 25
- pO 4283+ 0.0
p1 -34.26+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 5 13

71 nuis.oboe+u5 / 25
= 4289+ 0.0
-33.86+ 0.00

[ C =29.53 [ps/ch]

50

il
100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (2,5,2)

TP delay [ns]

TVC(cbch) (2,556

K™ nui s41e+04 / 25
- po 4281+ 0.0
[ p1 -36.52+ 0.00

3000

- 11Uy Usze+u4 [ 25
- pO 4260+ 0.0
[ pl -35.93+ 0.00

TP delay [ns]

TVC(eb,oh)=(2, 5, 10

1000

-l 1.44e+U6 /25
= pO 4203+ 0.0
[ p1 -34.69+ 0.00

TP delay [ns]

TVC(cbch) (2,514

pD
pl

T g, 3roe+Us / 25
4298+ 0.0
-34.78 + 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,5,3

A~ 1z 538e+U4 [ 25
- po 4281+ 0.0
pL -36.7+ 0.0

TP delay [ns]

TVC(c,b ch) (2 57

= nuiz bzoe+US | 25
= po 4263+ 0.0
p1 -36.03+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 5

T 4/4e+u6/25
E. pO 4299+ 0.0
p1 -34.19 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 5 15

~ 1 num, s9ye+U5 / 25
4281+ 0.0
-34.5+ 0.0

1
100

TP delay [ns]



TVC(cbch) (2,6,0)

4000

3000

2000

1000

A~ 1nuiza1ae+04 /25
po 4255+ 0.0
-35.2+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (26,4

4000

= InuILg1/e+u4 [ 25
fees, po 4319+ 0.0
pl -35.99+ 0.00

3000~ 7]
2000~ ]
1000 C 7
1 1 -
50 100
TP delay [ns]
TVC(cbch) (2 6,8)
T nu, 183e+u4 / 25
4000 fum, pD 4302+ 0.0
p1 -34.64 + 0.00
3000~ 7]
2000~ 7]
wor C =28.87 [ps/ch] ™, 7]
1 1 -
¢ 50 100
TP delay [ns]
TVC(cbch) (2.6,12)
T, 14/e+04 / 25
4000 = 4279+ 0.0
-32.77 + 0.00
3000 [ 7]
2000 - 7
1000

rc= 3052[ps/ch] " ]

1
= 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,6,1

A1 wiz.6ure+U4 | 25
- po 4264+ 0.0
pL -35.46 + 0.00

TP delay [ns]

TVC(c,b ch) (2 6,5

=1 i bype+u4 / 25
- pO 4320+ 0.0
-34.77+ 0.00

[ C =28.76 [ps/ch]

50 150
TP delay [ns]

TVC(c,b ch) (2 6,9

~ 1 nug 3oze+u4 [ 25
- pO 4322+ 0.0
pl -35.59 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 6 13

pO
p1

T 1 nuis.a4o0e+ud 25
4285+ 0.0
-34.51+ 0.00

[ C =28.97 [ps/ch]

PR R SR |
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,6,2)

X~ 1 iz, robe+U4 [ 25
- po 4273+ 0.0
[ p1 -36.01+ 0.00

3000

TP delay [ns]

TVC(cbch) (26,6

- C = 28.33 [ps/ch]

50 10'0
TP delay [ns]

TVC(eb,oh)=(2, 6, 10

T 4.88e+U5/ 25
- po 4342+ 0.0
r p1 -36.25+ 0.00

T nuiLy3/e+u4 / 25
- pO 4315+ 0.0
[ -35.3+ 0.0

TP delay [ns]

TVC(cbch) (2,614

pD
pl

-1z ylize+ud [ 25
4290+ 0.0
-35.15+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,6,3)
= po

pL -35.5+ 0.0

A~ 1 nuig.0use+ud | 25
4277+ 0.0

TP delay [ns]

TVC(c,b ch) (2 6,7

po 4318+ 0.0
pl -34.72+ 0.00

-1 nui yz3e+u4 / 25

[ C =28.80 [ps/ch]

50 160
TP delay [ns]

TVC(c,b ch) (2, 6

pl -35.54 + 0.00

- pO

Jnurg uue+u6/25
4335+ 0.0

TP delay [ns]

TVC(eben)=(2 6, 15

Inul 4.1e+u4 /25
4298+ 0.0
-34.71+ 0.00

I C =28.81[ps/ch] ]

PR R SRR |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,7,0)

po

pl

X~ 1w suve+U4 [ 25
4259+ 0.0
-36.11 + 0.00

TP delay [ns]

TVC(cbch) (2,7,4

- bzge+u4 | 25
4244+ 0.0
-34.77 + 0.00

foee. pO
pl
[ C =28.76 [ps/ch] ]
o+ o
TP delay [ns]
TVC(cbch) (2 7,8

1 nuz, 3ove+Us / 25
4263+ 0.0
-35.19+ 0.00

TVC(Cbch) (2,7,12

TP delay [ns]

A1,

po
p1

rs8e+U5 / 25
4269+ 0.0
-36.31+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (2,7,1)

e, po

AT 1 nuz,Loe+u4 | 25
4267+ 0.0
p1 -36.58 + 0.00

TP delay

TVC(c,b ch) (2 7,5

[ns]

T U b ze+u4 [ 25
4245+ 0.0
pl -34.79 + 0.00

TP delay

TVCEebeh)=(2,7, 9

po

[ns]

T inuiLUL/e+u6 / 25
4266+ 0.0
p1 -34.47 + 0.00

TP delay

TVC(c,b Ch) (2, 7 13

pO
p1

[ns]

T inuy.grve+ud [ 25
4269+ 0.0
-35.5+ 0.0

TP delay

[ns]

4000

3000

2000

4000
3000

2000

4000
3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,7,2)

1000

. po

X~ 15 0e+04 [ 25
4280+ 0.0
-37.62:+ 0.00

pl

TP delay [ns]

TVC(cbch) (2,7,6

1000

- iy 2oze+04 [ 25
4272+ 0.0
-35.3+ 0.0

TP delay [ns]

TVC(ebeh)=(2, 7, 10

pO
pl

1 nuiz20pe+U6 / 25
4264+ 0.0
-35.03 + 0.00

TP delay [ns]

TVC(ebeh)=(2. 7, 14

e

PO
pl

vau5 / 25
4279+ 0.0
-35.95+ 0.00

P R T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,7,3)

po

pl

A1 nuy.B15e+u4 [ 25
4278+ 0.0
-36.42:+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (2 7,7

pO
pl

“nug.Zz/e+u5/ 25
4264+ 0.0
-35.16+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (2,7,

AL 5b5e+u6/25
4281+ 0.0
-35.09 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 7 15

1 nus.y4ze+U5 / 25
4275+ 0.0
-36.15+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,8,0)

AT 1nunL s re+u4 /25
po 4272+ 0.0
pl -35.22+ 0.00

TP delay [ns]

TVC(cbch) (28,4

= 1L Buse+u4 / 25
pO 4286+ 0.0
p1 -34.61+ 0.00

[ C=28.89 [ps/ch] ™, 1
% o
TP delay [ns]
TVC(cbch) (2 8,8

~ 1 nuiLuLge+Us / 25
po 4287+ 0.0
pl -36.02+ 0.00

TP delay [ns]

TVC(cbch) (2,812

~ iy pzse+Us / 25
po 4314+ 0.0
pl -35.89+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,81)

S 1gre+ud [ 25
- pO 4289+ 0.0
pl -35.91+ 0.00

TP delay [ns]

TVC(c,b ch) (2 8,5

- U 338e+04 / 25
- pO 4281+ 0.0
pL -33.78 0.00

[ C=29.60 [ps/ch] ™_ 7

50 1(;0
TP delay [ns]

TVC(c,b ch) (2 8,9

<1 nuw.bbae+U5 / 25
= po 4285+ 0.0
pl -35.14 + 0.00

TP delay [ns]

TVC(C, bch) (2,813

T nug.ubse+us / 25
= pO 4299+ 0.0
pl -36.09 + 0.00

TP delay [ns]

TVC(cbch) (2,8,2)

4000

2000

1000

AT 1nug isie+u4 /25
__ po 4292+ 0.0
- pl -35.24 + 0.00

3000

TP delay [ns]

TVC(cbch) (2,86

4000

3000

2000

1000

-1 U, 0yve+ud / 25
- pO 4297+ 0.0
[ 342+ 0.0

- C = 29.24 [ps/ch] ™. 1

50 10‘0
TP delay [ns]

TVC(cbch) (2, 8 10

4000

3000

2000

1000

T 1nuiL4/8e+U6 / 25
po 4298+ 0.0
p1 -34.63+ 0.00

- C = 28.88 [ps/ch]

0

1
50 100

TP delay [ns]

TVC(cbch) (2,8 14

4000
3000
2000

1000

- 1 1t a4ue+U5 [ 25
pD 4312+ 0.0
pl -35.94 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,83

T,/ 4e+u4 1 25
o pO 4278+ 0.0
pl -33.74+ 0.00

[ C=29.64[ps/ch] ™ 1
L -

TP delay [ns]

TVC(cbch) (2,87

- 11U Yage+us / 25
- pO 4308+ 0.0
pL -35.36+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 8

T g u4e+u6/25
- pO 4312+ 0.0
pl -35.32+ 0.00

TP delay [ns]

TVC(C, bch) (2,815

T nuiL 155e+U6 / 25
e pO 4321+ 0.0
p1 -37.2+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 =

3000

2000

1000

TVC(cbch) (2,9,0)

b po

A7 1 nui goye+ud / 25
4214+ 0.0
-35.14 + 0.00

pl

TP delay [ns]

TVC(cbch) (29,4

- rnuz 11be+u4 / 25
4263+ 0.0
-37.32 0.00

== po
pl
e 4
% =
TP delay [ns]
TVC(c,b ch) (2, 9 8
o pD

T 1ple+u5/25
4260+ 0.0
-35.44 + 0.00

p1

TP delay [ns]

TVC(cbch) (2,9,12

- 1 nu,

pO
p1

rs4e+U5 /25
4255+ 0.0
-36.38 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 E,

3000

2000

1000

TVC(cbch) (2,9,1)

- po

AT 1nug.zsze+ud [ 25
4232+ 0.0
pl -37.18+ 0.00

TP delay

TVC(c,b ch) (2 9,5

[ns]

-1 nu.430e+04 / 25
4269+ 0.0
pl -37.97 + 0.00

TP delay

TVC(c,b ch) (2 9,9

[ns]

T a8 0e+u5 [ 25
4265+ 0.0
pl -35.06 + 0.00

TP delay

TVC(C, bch) (2,9,13

[ns]

1 nuig zuve+U5 / 25
4249+ 0.0
pl -35.86 + 0.00

TP delay

[ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000
3000
2000

1000

4000 =,
3000
2000

1000

TVC(cbch) (2,9,2)

b po

pl

A7 1 nuig sove+u4 / 25
4235+ 0.0
-35+ 0.0

TP delay [ns]

TVC(cbch) (29,6

= po

p1

- iy Bz1e+u4 [ 25
4258+ 0.0
-35.99 + 0.00

TP delay [ns]

TVC(cbch) (2,910

X- 1 iun 141e+U6 /25
po 4283+ 0.0
pl -35.04+ 0.

-35.04 + 0.00

TP delay [ns]

TVC(cbch) (2,914

pD
pl

T g5 r0e+U5 / 25
4260+ 0.0
-36.82+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,9,3)

B po

AT 1z ozse+ud [ 25
4218+ 0.0
-34.79+ 0.00

pl

TP delay [ns]

TVC(c,b ch) (2 9,7

S rnui by e+U5 /25
4288+ 0.0
-37.88 % 0.00

= po
pL
e -
| 1 -'-
50 100
TP delay [ns]

TVC(c,b ch) (2,9,1

X~ g,

’ /4e+u6 125
4278+ 0.0
-35.58 + 0.00

TP delay [ns]

TVC(C, bch) (2,9, 15

X1,

1o5e+U5 / 25
4252+ 0.0
-36.05+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (2, 10 0)

T rnuiLsyze+u4 [ 25
poee, pO 4225+ 0.0
pl -35.84 + 0.00

TP delay [ns]

TVC(cbch) (2,104

-1 i bBge+ud / 25
- pO 4253+ 0.0
pl -35.03+ 0.00

TP delay [ns]

TVC(cbch) (2, 10 8

1 nuiLu4pe+Us / 25
- PD 4275+ 0.0
pl -36.13+ 0.00

TP delay [ns]

TVC(cbch) (2,10,12

1 1uip.pode+U5 / 25
pO 4286+ 0.0
pl -35.33+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2,10,1)

x- 1 (5 re+ud | 25
b= po 4224+ 0.0
pL -34.64+ 0.00

TP delay [ns]

TVC(c, bch) (2,10,5

-1 nu 104e+04 / 25
= 4252+ 0.0
-34.32+ 0.00

[ C =29.14 [ps/ch] 7

50 1(;0
TP delay [ns]

TVC(ebeh)=(2, 10,9

T nuiL144e+06 / 25
- po 4288+ 0.0
pl -35.31+ 0.00

TP delay [ns]

TVC(cbch) (210,13

T nug.p14e+U5 / 25
. pO 4285+ 0.0
pl -36.13+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000
3000
2000

1000

0

4000

3000
2000

1000

TVC(CbCh) (2,10,2)

A1 z45e+U4 /25
- po 4252+ 0.0
- pl -36.69 + 0.00

3000

TP delay [ns]

TVC(cbch) (2,10,6

T g, rzze+04 [ 25
- pO 4285+ 0.0
[ pl -35.84+ 0.00

TP delay [ns]

TVC(cbch) (2,10, 10

©1nuiLgole+U6 / 25
po 4317+ 0.0
pl -36.21+ 0.00

TP delay [ns]

TVC(cbch) (2.10,14

-1 vy, 1upe+U5 / 25
-, pD 4286+ 0.0
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S Zoievud | 25
o pO 4260+ 0.0
pL -36.05 + 0.00

TP delay [ns]

TVC(c,b ch) (3 1,7

- rnui 1/9e+U5 / 25
- pO 4274+ 0.0
p1 -36.47 + 0.00

50 160
TP delay [ns]

TVC(c,b ch) (3, l

- T szse+u6/25
= po 4257+ 0.0
pl -35.93+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 1 15

1 nuis sae+U5 [ 25
e pO 4268+ 0.0
p1 -35.05 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,2,0

X~ 1 yule+u4 /25
- po 4226+ 0.0
p1 -35.59 + 0.00

TP delay [ns]

TVC(cbch) (3,24

Tz 303e+04 / 25
- pO 4234+ 0.0
p1 -35.47+ 0.00

50 10'0
TP delay [ns]

TVC(eb,oh)=(3, 2,8

- 1nug 51 /e+u4 [ 25
4278+ 0.0
-35.6 + 0.0

1
50 00

TP delay [ns]

TVC(cbch) (3,212

~ g, (zoe+U5 / 25
pO 4277+ 0.0
-35.32+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (3,2,1)

A7 1 nuiL, (ube+u4 / 25
po 4249+ 0.0
p1 -36.66 + 0.00

TP delay [ns]

TVC(c,b ch) (3 2,5

T nu /(oe+u4 [ 25
pO 4262+ 0.0
p1 -36.84 + 0.00

TP delay [ns]

TVC(eb,oh)=(3, 2,9

~ 1 nuig syse+us / 25
pO 4287+ 0.0
p1 -36.26 + 0.00

TP delay [ns]

TVC(c,b Ch) (3, 2 13

TinuiLs31e+U5 / 25
pO 4279+ 0.0
p1 -35.65+ 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

2000

4000
3000
2000

1000

TVC(cbch) (3,2,2)

X~ 1z 330e+04 [ 25
- po 4256+ 0.0
L pl -37.39+ 0.00

3000

TP delay [ns]

TVC(cbch) (32,6

T nu, Zebe+u4 | 25
4259+ 0.0
-36.3+ 0.0

TP delay [ns]

TVC(CbCh) (3, 2 10

1000

0

1 nuiLbZpe+U6 / 25
- po 4322+ 0.0
N p1 -37.93+ 0.00

3000

TP delay [ns]

TVC(cbch) (3,214

~ 1L yzoe+U5 / 25
4272+ 0.0
-35.21+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,2,3

K™ 1wz 141e+U4 [ 25
- po 4255+ 0.0
p1 -37.09 + 0.00

TP delay [ns]

TVC(c,b ch) (3 2,7

= nui 1z8e+U5 / 25
= po 4261+ 0.0
p1 -35.65+ 0.00

TP delay [ns]

TVC(eheh=(3, 2,

T bb4e+U6/25
k. pO 4313+ 0.0
pl -36.99 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 2 15

T inuiz.fu1e+U5/ 25
pO 4286+ 0.0
p1 -35.16 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,3,0

A~ 1 nuiL 5 rye+ud [ 25
= po 4246+ 0.0
p1 -35.66+ 0.00

TP delay [ns]

TVC(cbch) (3,34

- i 784e+04 [ 25
== po 4265+ 0.0
pl -34.17 + 0.00

[ C =29.26 [ps/ch]

50 10'0
TP delay [ns]

TVC(cbch) (3 3,8

T 1nug.44ze+04 | 25
= po 4267+ 0.0
p1 -35.15+ 0.00

TP delay [ns]

TVC(cbch) (3,312

T 1u/e+U5 / 25
po 4283+ 0.0
pl -35.72+ 0.00

PR ISR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (3,31

AT 1 nuiL, r9ve+u4 | 25
= po 4256+ 0.0
p1 -36.48 + 0.00

TP delay [ns]

TVC(c,b ch) (3 3,5

-1 nuz 104e+04 / 25
- pO 4280+ 0.0
-35.3+ 0.0

TP delay [ns]

TVC(c,b ch) (3 3,9

T nun 3b/e+us / 25
pO 4268+ 0.0
p1 -34,56 £ 0.00

TP delay [ns]

TVC(c,b Ch) (3, 3 13

T 1 nuz.p34e+U5 / 25
pO 4286+ 0.0
p1 -35.85+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (3,3,2)

X~ 1z 0rse+ud [ 25
-, po 4271 0.0
L pl -35.93+ 0.00

3000

TP delay [ns]

TVC(cbch) (3,36

1000

- 11Uy 354e+04 | 25
- pO 4288+ 0.0
[ pl -35.51+ 0.00

TP delay [ns]

TVC(eb,oh)=(3, 3, 10

TrnuiL4/1e+U6 / 25
- po 4292+ 0.0
L pl 3534+ 0,00

TP delay [ns]

TVC(Cbch) (3, 3 14

T z11e+u5/ 25
5 pD 4271+ 0.0
L p1 -35.82+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,33

Fem, po 4268+ 0.0
pL -34.5+ 0.0

A~ 1 nuiz 35ze+u4 [ 25

[ C =28.99 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (3 3,7

pO 4300+ 0.0
p1 -34.48+ 0.00

S nun131e+05/ 25

[ C =29.00 [ps/ch]

50 160
TP delay [ns]

TVC(c,b ch) (3, 3

E pO 4293+ 0.0

s nurg, //ze+u6/25

36.39 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 3 15

E pO 4291 0.0
pL -36.34 + 0.00

g, zzze+U5 [ 25

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,4,0)

X~ 1w gooe+U4 [ 25
4253+ 0.0
-36.67 + 0.00

TP delay [ns]

TVC(cbch) (3,4,4

139e+U4 / 25
4286+ 0.0
-36.03+ 0.00

- po, iy,
p1
- C N
1 1 -
50 100
TP delay [ns]
TVC(cbch) (34.58)
-1 nuiL8bae+U5 / 25
= pO 4262+ 0.0
p1 -34.24 + 0.00

TP delay [ns]

TVC(Cbch) (3, 4 12

po
p1

=i 5 94e+U5 [ 25
4286+ 0.0
-36.32+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 E,

3000

2000

1000

TVC(cbch) (3.4,1)

- pO

T zuve+ud [ 25
4249+ 0.0
-36.2+ 0.0

p1

1
100

TP delay [ns]

TVC(c,b ch) (3 4,5

- pO

- U 383e+04 / 25
4291+ 0.0
-36.67 + 0.00

TP delay [ns]

TVC(c,b ch) (3 4,9

e, po

T nuiL4nbe+U6 / 25
4272+ 0.0
-34.65 + 0.00

1
100

TP delay [ns]

TVC(c,b Ch) (3, 4 13

Tinug sz1e+U5/ 25
4275+ 0.0
-37.14+ 0.00

il
100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000
3000

2000

4000

3000
2000

1000

TVC(cbch) (3,4,2)

b po

K™ nuig zsae+u4 | 25
4244% 0.0
p1 -35.75+ 0.00

TP delay [ns]

TVC(cbch) (34,6

= o

pl

Tnue,Z/1e+04 / 25
4299+ 0.0
-37.33+ 0.00

TP delay [ns]

TVC(eb,oh)=(3, 4, 10

1000

0

© a2 201e+06 / 25
4278+ 0.0
-35.5+ 0.0

TP delay [ns]

TVC(Cbch) (3,4,14

A1 g,

113e+U5/25
4273+ 0.0
-36.73+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,4,3)

e, po

A~ 1z 041e+U4 [ 25
4265+ 0.0
-36.81+ 0.00

pl

TP delay [ns]

TVC(c,b ch) (3 4,7

pO
pl

-1 nuz,038e+U5 / 25
4301+ 0.0
-35.86 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (3, 4

Tz, z4e+u6/25
4283+ 0.0
-34.65+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 4 15

T inanp./ye+uS5 /25
4274+ 0.0
-35.94+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,5,0)

A7 1 nui supe+ud / 25
po 4258+ 0.0
pl -35.22+ 0.00

TP delay [ns]

TVC(cbch) (3,54

- i bole+ud / 25
pO 4271 0.0
pl -35.33+ 0.00

4000

3000

2000

1000

4000

3000

2000

1000

TP delay [ns]

TVC(cbch) (3 58

T 7 .ze+u4 /25
pO 4294+ 0.0
-34.93 + 0.00

0

[ C=28.63[ps/ich] ™ 7
% o
TP delay [ns]
TVC(cbch) (3, 5 12

T rnuiLyive+u4 / 25
pO 4353+ 0.0
pl -36.34+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,51)

AT rnunr1se+ud [ 25
po 4285+ 0.0
pl -35.71+ 0.00

TP delay [ns]

TVC(c,b ch) (3 55

-1 nu 130e+04 / 25
4260+ 0.0
-34.66 + 0.00

[ C =28.86 [ps/ch] 7]

50

1
100

TP delay [ns]

TVC(c,b ch) (3 59

[ C =28.43 [ps/ch]

T nuy,117e+05 / 25
po 4315+ 0.0
pl -35.17 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (3,5,13

Tinugnl/e+u5/ 25
pO 4334+ 0.0
pl -36.62+ 0.00

TP delay [ns]

4000

3000

2000

4000

3000

2000

1000

TVC(cbch) (3,5,2)

1000

K™ 1 nuiLgyoe+u4 / 25
po 4289+ 0.0
pl -35.86+ 0.00

TP delay [ns]

TVC(cbch) (3,56

- 1uig.0b4e+u4 / 25
pO 4262+ 0.0
pl -34.33+ 0.00

- C = 29.13 [ps/ch]

4000

3000

2000

1000

4000

3000
2000

1000

50

1
100

TP delay [ns]

TVC(cbch) (3, 5 10

- C = 28.82 [ps/ch]

1 nuiL 389e+U6 / 25
po 4326+ 0.0
p1 -34.7+ 0.0

0

1
50 100

TP delay [ns]

TVC(cbch) (3,5,14

-1 nug.guse+Us / 25
pD 4334+ 0.0
pl -36.66 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,5,3)

AT rnuzs1re+ud [ 25
po 4297+ 0.0
pl -35.76 + 0.00

TP delay [ns]

TVC(c,b ch) (3 57

=1 nuz.0uze+us / 25
pO 4269+ 0.0
p1 -34.24+ 0.00

[ C =29.20 [ps/ch]

50

1
100

TVC(c,b ch) (3, 5

TP delay [ns]

[ C =28.76 [ps/ch]

T b/de+U6/25
pO 4330+ 0.0
p1 -34.77 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (3,5,15

T nu, 3 roe+U5 / 25
po 4344+ 0.0
p1 -36.72+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,6,0)

X~ 1 soze+U4 [ 25
PO 4230+ 0.0
pl -34.13+ 0.00

[C=29.30 [ps/ch] ™, 1]
% s
TP delay [ns]
TVC(cbch) (3 6,4)
T Zzuse+ud [ 25
- pO 4299@
pl -36.69 + 0.00
e ]
% T
TP delay [ns]
TVC(c,b ch) (3 6,8

< i Z58e+U5 / 25
PD 4282+ 0.0
pl -36.46 + 0.00

TP delay [ns]

TVC(cbch) (3,6,12

~ 1 nuy,ubse+Us / 25
PO 4268+ 0.0
pl -34.96 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (3,6,1)

[ C =28.90 [ps/ch]

A1 nuiLorae+U4 [ 25
po 4242 + 0.0
pl -34.61+ 0.00

_L 1
50 100

TP delay [ns]

TVC(c,b ch) (3 6,5

-1 nug.Uz3e+u4 / 25
DU 4316+ 0.0
pL -37.49 % 0.00

TP delay [ns]

TVC(c,b ch) (3 6,9

S 181e+U6 / 25
DO 4297+ 0.0
pl -35.94+ 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (3,6,13

T g1ye+us / 25
pO 4282+ 0.0
pl -35.77 + 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (3,6,2)

X~ 1L bore+u4 [ 25
- PO 4260+ 0.0
F pl -35.25+ 0.00

3000

TP delay [ns]

TVC(cbch) (36,6

- 1. 458e+04 [ 25
pO 4315+ 0.0
pl -36.82:+ 0.00

TP delay [ns]

TVC(cbch) (3, 6 10

T 1nuz,183e+U6 / 25
DO 4287+ 0.0
pl -34.98 + 0.00

TP delay [ns]

TVC(cbch) (3,6,14

~ 1y, 550e+U5 / 25
PD 4294+ 0.0
pl -36.34 + 0.00

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,6,3

AT 1 nuis, 144e+04 [ 25
- po 4246+ 0.0
pl -34.57 + 0.00

C =28.93 [ps/ch]

_L 1
50 100

TP delay [ns]

TVC(c,b ch) (3 6,7

-1 nu.by/e+us / 25
- PO 4316 0.0
Pl -37.77+0.00

50 100
TP delay [ns]

TVC(c,b ch) (3, 6

ATV uze+u6/25
pO 4307 £ 0.0
pl -36.48 + 0.00

TP delay [ns]

TVC(C, bch) (3,6,15

- 1 1ug. yoye+us / 25
pO 4285+ 0.0
pl -35.43 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,7,0)

e, po

X~ 1w booe+U4 [ 25
4252+ 0.0
p1 -35.14 + 0.00

TP delay

TVC(cbch) (3,7,

[ns]

- 1 nuiLy4ye+u4 / 25
4262+ 0.0
pl -35.44 + 0.00

- pO
- C =
1 1 -
50 100
TP delay [ns]
TVC(cbch) (3,7.8)
— T b3/e+U5 / 25
= po 4268+ 0.0
pl -36.98 + 0.00

TP delay

TVC(Cbch) (3, 7 12

[ns]

T rnug.us1e+Us / 25
4270+ 0.0
pl -34.52+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 E,

3000

2000

1000

TVC(cbch) (3,7,1)

e, po

A7 1 nuiLbuze+ud | 25
4257+ 0.0
-34.99 + 0.00

p1

TP delay [ns]

TVC(c,b ch) (3 7,5

- pO

pl

- U 3lee+u4 / 25
4249+ 0.0
-34.74 % 0.00

TP delay [ns]

TVC(c,b ch) (3 7,9

po

pl

T nuiLz19e+U6 / 25
4285+ 0.0
-36.34 + 0.00

TP delay [ns]

TVC(c,b Ch) (3, 7 13

T 1 nug.p40e+U5 / 25
4257+ 0.0
-34.87+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000
3000
2000

1000

0

4000

3000
2000

1000

TVC(cbch) (3,7,2)

- po

X~ 1z 0L/e+u4 [ 25
4273+ 0.0
p1 -36.05+ 0.00

TP delay

TVC(cbch) (3,7,6

= PO

[ns]

©1nuy puve+ud | 25
4268+ 0.0
pl -35.82 + 0.00

TP delay

TVC(eb,oh)=(3, 7, 10

[ns]

1 nuiz,yeye+U6 / 25
4296+ 0.0
-36.5+ 0.0

TP delay

TVC(Cbch) (3, 7 14

pD

[ns]

~1nug.445e+05 / 25
4257+ 0.0
pl -34.27 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,7,3)

e po

A1 nuiz3z1e+U04 [ 25
4272+ 0.0
-35.36+ 0.00

pl

TP delay [ns]

TVC(c,b ch) (3 7,7

C po
pl

-1 nu gz3e+u5 / 25
4277+ 0.0
-35.52+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 7

AR bUie+U6/25
4294 £ 0.0
-36.68 + 0.00

TP delay [ns]

TVC(Eben)=(3, 7, 15

L

5./e+U5/25
4264+ 0.0
-35.27 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,8,0)

AL PAVE Vi)
4279+ 0.0
p1 -37.32+ 0.00

TP delay

TVC(cbch) (38,4

[ns]

- i rb4e+04 [ 25
4278+ 0.0
-35.3+ 0.0

TP delay

TVC(cbch) (3 8,8

pD

[ns]

©rnuiL413e+05 / 25
4307+ 0.0
pl -38.17 + 0.00

TP delay

TVC(Cbch) (3, 8 12

po
p1

[ns]

T rnun.4z1e+05 / 25
4287+ 0.0
-36+ 0.0

PR ISR B
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,8,1)

e, po

A7 1 nuiLyyse+u4 / 25
4254+ 0.0
-35.47 + 0.00

p1

TP delay [ns]

TVC(c,b ch) (3 8,5

“nuZole+ud [ 25
4266+ 0.0
-35.13+ 0.00

TP delay [ns]

TVC(c,b ch) (3 8,9

roaee pO

1 nuiL 394e+U6 / 25
4311+ 0.0
-37.35+ 0.00

TP delay [ns]

TVC(c,b Ch) (3,8,13

X nan g

po
p1

ble+u5/25
4284+ 0.0
-35.93+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

1000

0

TVC(cbch) (3,8,2)

= po

X~ 1z z1/e+V4 [ 25
4257+ 0.0
p1 -35.93+ 0.00

TP delay

TVC(cbch) (3,86

F= P°

[ns]

©1nug,53ve+u4 / 25
4272+ 0.0
pl -35.17 + 0.00

TP delay

TVC(eb,oh)=(3, 8, 10

- "0

[ns]

1L, r9pe+U6 / 25
4315+ 0.0
p1 -37.68+ 0.00

TP delay

TVC(Cbch) (3, 8 14

e pD

pl

[ns]

T 4.41e+05/25
4282+ 0.0
-36.2+ 0.0

TP delay

P B T
50 100

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3.8,3)

e po

A~ 1 nuig.gsze+ud [ 25
4288+ 0.0
-37.08:+ 0.00

pl

TP delay [ns]

TVC(c,b ch) (3 8,7

pO
pl

- 1nu, gle+us/ 25
4290+ 0.0
-35.99+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (3, 8

= pO

- 41/E+U6/25
4317+ 0.0
-37.77+ 0.00

pl

TP delay [ns]

TVC(c,b ch) (3, 8 15

T,/ 7ae+U5/ 25
4290+ 0.0
-35.563+ 0.00

1
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TVC(cbch) (5.15,6

A1 2z 5ze+U4 | 25
-— po 4315+ 0.0
X p1 -36.45 + 0.00

3000

- i, r54e+04 [ 25
- pO 4287+ 0.0
[ pl -36.65 + 0.00

TP delay [ns]

TVC(cbch) (5. 15, 10

T nuiL113e+U6 / 25
- po 4301+ 0.0
L pl -35.42+ 0.00

TP delay [ns]

TVC(cbch) (5.15, 14

T rnuigp43e+U5 / 25
- pD 4321+ 0.0
| pl -35.88+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,15,3)

[ C =28.36 [ps/ch]

AT 1 nus.usbe+ud [ 25
po 4324+ 0.0
pl -35.26 + 0.00

1 1
50 100

TP delay [ns]

TVC(c, bch) (5,15, 7

-1 nur 105e+U5 / 25
- pO 4289+ 0.0
p1 -35.94 + 0.00

TP delay [ns]

TVC(cbch) (5, 15 1

<1 nuiL zooe+u6 / 25
- po 4310+ 0.0
pl -35.87 + 0.00

TP delay [ns]

TVC(cbch) (5.15,15

[ C =28.37 [ps/ch] ]

-1 nug z4ye+Us | 25
4305+ 0.0
-35.25+ 0.00

PR PR S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,0)

.Byse+u4 25
4205+ 0.0
-33.92 0.00

[ C=29.48[psich] ™, 1
_ e
TP delay [ns]
TVC(cbch) (6 0,4) -
T rnug, rebe+u4 [ 25
- pO 4225@
pl -33.87 + 0.00
[C=29.52[ps/ch] ™, ]
o+ o
TP delay [ns]
TVC(c,b ch) (6 0,8
= pD

-1 U, 200e+04 / 25
4235+ 0.0
-35.82+ 0.00

p1

TP delay [ns]

TVC(cbch) (6,0,12

-1 nug,

- po
p1

1Ube+U4 /25
4265+ 0.0
-35.17 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,1)

E po

AT 1 nuzuzse+u4 | 25
4223+ 0.0
-35.38+ 0.00

p1

1 1
50 100

TP delay [ns]

TVC(c,b ch) (6,0,5

X 2

b3e+04 | 25
4238+ 0.0
-35.39 + 0.00

TP delay [ns]

TVC(c,b ch) (6 0,9

- po

pl

-1 nuy.pbse+ud / 25
4255+ 0.0
-36.42+ 0.00

TP delay [ns]

TVC(c,b Ch) (6, O 13

T nuiz.p43e+04 / 25
4261+ 0.0
-35.54+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (6,0,2)

= po

X~ 1 i Yobe+u4 [ 25
4228+ 0.0
p1 -34.79.+ 0.00

TP delay

TVC(cbch) (60,6

F= P°

[ns]

- rnuz,u83e+u4 / 25
4255+ 0.0
pl -35.64 + 0.00

TP delay

TVC(eb,ch)=(6, 0, 10

1000

= "

[ns]

© 1 nuiz,uspe+Us / 25
4268+ 0.0
p1 -35.64 + 0.00

TP delay

TVC(cbch) (6,0,14

= P"
pl

[ns]

-1 i, (5ze+04 [ 25
4255+ 0.0
-35+ 0.0

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,3)

e, pO

pl

“rnun zure+ud [ 25
4243+ 0.0
-35.45+ 0.00

TVC(c,b ch) (6 0,7

pO
pl

1
100

TP delay [ns]

“rnu [vle+u4 / 25
4260+ 0.0
-34.64 + 0.00

[ C =28.87 [ps/ch]

50

1
100

TP delay [ns]

TVC(c,b ch) (6, O

. pO

T bbée+l}5/25
4274+ 0.0
-35.47 + 0.00

pl

TP delay [ns]

TVC(c,b ch) (6, O 15

e pO
p1

S zfre+ud [ 25
4272+ 0.0
-35.8 £ 0.0

TP delay [ns]



TVC(cbch) (6,1,0

4000

3000

2000

1000

A~ 1 nui osze+u4 | 25
o, po 4234+ 0.0
p1 -36.75+ 0.00

TP delay [ns]

TVC(cbch) (6.1,4

4000

3000

2000

1000

[ C =29.30 [ps/ch]

- g 03ze+04 [ 25
= po 4232+ 0.0
pl -34.13+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (6 18

4000

3000

2000

1000

[ C =29.03 [ps/ch]

iy, 7z1e+04 [ 25
- po 4252+ 0.0
p1 -34.44 0.00

0

1
50 00

TP delay [ns]

TVC(cbch) (61,12

4000

3000

2000

1000

1z 504e+05 / 25
- po 4250+ 0.0
p1 -35.5+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,1

AT 1L (oe+u4 [ 25
- po 4254+ 0.0
p1 -37.27+ 0.00

TP delay [ns]

TVC(c,b ch) (6 1,5

-1 Uz ysae+u4 [ 25
e pO 4218+ 0.0
p1 -35.14 + 0.00

50 150
TP delay [ns]

TVC(c,b ch) (6 1,9

[ C =28.96 [ps/ch] 7]

T inuiL331e+U6 / 25
= 4274+ 0.0
-34.53 + 0.00

1
50 00

TP delay [ns]

TVC(c,b Ch) (6, l 13

T nuiL 3be+u5 / 25
= pO 4245+ 0.0
p1 -35.27 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (6,1,2)

X~ 1 nuiz.0use+ud | 25
[, po 4271+ 0.0
L pl -37.74+ 0.00

3000

TP delay [ns]

TVC(cbch) (61,6

T 3.24e+04 /25
- pO 4255+ 0.0
- pl -35.93 + 0.00

3000

TP delay [ns]

TVC(eb,oh)=(6, 1, 10

1 nuiLbbae+U6 / 25
- po 4286+ 0.0
- pl -35.19+ 0.00

3000

TP delay [ns]

TVC(c,b Ch) (6, 1 14

-1 1 5ae+U5 ] 25
= pD 4243+ 0.0
X pL -34.86 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,3

A~ 1 nuiz.0uye+ud | 25
- po 4254+ 0.0
pL -37.26+ 0.00

TP delay [ns]

TVC(c,b ch) (6 1,7

[ C =28.88 [ps/ch]

-1 U Yoze+u4 [ 25
- pO 4245 0.0
p1 -34.63+ 0.00

50 160
TP delay [ns]

TVC(c,b ch) (6, l

T ys/e+u6/25
- po 4296+ 0.0
p1 -35.18 + 0.00

TP delay [ns]

TVC(c,b ch) (6, 1 15

T inuiz.z3ze+U5 [ 25
= pO 4250+ 0.0
p1 -35.43+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000
3000 [~ ]
2000 - ]
10001~ C ]
1 1 -
50 100
TP delay [ns]
TVC(cbch) (6,2,8)
~1nubple+ud / 25
4000 fae, pD 4276+ 0.0
-34.86 + 0.00
3000~ ]
2000 |- 7
10r C =28.68 [ps/ch]™, 7
1 1 -
b 50 100

4000

3000

2000

1000

TVC(cbch) (6.2,0)

T zzoe+ud [ 25
4260+ 0.0
-37.31+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (62,4

- rnu3s1e+04 [ 25
== po 4272+ 0.0
pl -35.76 + 0.00

TP delay [ns]

TVC(cbch) (6,2, 12

~rnuizys4e+Us / 25
= po 4261+ 0.0
-34.67 + 0.00

I C =28.84 [ps/ch]

L n n n n 1
50 100

TP delay [ns]
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1000
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1000
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2000

1000

4000

3000

2000

1000

TVC(cbch) (6,2,1

A 1muiz51ae+ud | 25
e, po 4268 0.0
pL -35.93+ 0.00

TP delay [ns]

TVC(c,b ch) (6 2,5

~nu 1bze+u4 [ 25
- pO 4277+ 0.0
p1 -36.04 + 0.00

50 150
TP delay [ns]

TVC(eb,oh)=(6, 2,9

~ 1 nuig.anye+U5 / 25
- po 4317+ 0.0
p1 -36.82 + 0.00

TP delay [ns]

TVC(c,b Ch) (6, 2 13

T nuiL poze+U5 / 25
- pO 4293+ 0.0
p1 -36.42+ 0.00

TP delay [ns]
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2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (6,2,2)

TP delay [ns]

TVC(cbch) (62,6

A~ 1nui Ssae+u4 | 25
-, po 4266+ 0.0
[ p1 -35.29+ 0.00

3000

- 1nu pb3e+ud | 25
- pO 4292+ 0.0
- pl -35.62 + 0.00

TP delay [ns]

TVC(CbCh) (6, 2 10

~ 1 nuy.453e+U5 / 25
- po 4310+ 0.0
L -35.6+ 0.0

TP delay [ns]

TVC(cbch) (6,2 14

Tz e+U5 / 25
. pD 4277+ 0.0
L pl -35.17 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,2,3

A 1uizb1ae U4 | 25
o po 4271£ 0.0
p1 -36.36+ 0.00

TP delay [ns]

TVC(c,b ch) (6 2,7

= 1 nu 3uve+ud | 25
= po 4305+ 0.0
p1 -36.08 + 0.00

TP delay [ns]

TVC(eheh)=(6, 2,

T Ui/e+U6/25
- po 4323+ 0.0
p1 -36.49 + 0.00

TP delay [ns]

TVC(c,b ch) (6, 2 15

-1 nuiz rboe+U5 / 25
= pO 4295+ 0.0
p1 -35.57 + 0.00

TP delay [ns]



4000

3000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,3,0)

X~ 1 bole+U4 /25
po 4255+ 0.0
p1 -36.57 + 0.00

TP delay [ns]

TVC(cbch) (63,4

iz r5e+u4 [ 25
po 4290+ 0.0
pl -37.34+ 0.00

- C N
< T
TP delay [ns]
TVC(cbch) (6 3,8

- huizdvve+ud [ 25
po 4293+ 0.0
p1 -35.89+ 0.00

TP delay [ns]

TVC(Cbch) (6, 3 12

Tz, 119e+u5 / 25
po 4288+ 0.0
pl -35.52+ 0.00

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,31

AT 1L r1ze+u4 [ 25
e, po 4261+ 0.0
p1 -36.8+ 0.0

TP delay [ns]

TVC(c,b ch) (6 3,5

=1 Ui Yoye+ud / 25
- pO 4291+ 0.0
-36.3+ 0.0

50 150
TP delay [ns]

TVC(c,b ch) (6 3,9

T inun. g1 /e+U5 [ 25
pO 4301+ 0.0
-35.2+ 0.0

[ C =28.41 [ps/ch]

1
50 00

TP delay [ns]

TVC(c,b Ch) (6, 3 13

T nui syze+U5 / 25
= pO 4276+ 0.0
p1 -34.9+ 0.0

[ C =28.66 [ps/ch]

PR R SR |
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (6,3,2)

X~ 1L 8roe+u4 [ 25
. po 4273+ 0.0
L pl -36.63+ 0.00

3000

TP delay [ns]

TVC(cbch) (63,6

Tnu.Zpe+u4 | 25
- pO 4295+ 0.0
- pl -36.02 + 0.00

TP delay [ns]

TVC(eb,oh)=(6, 3, 10

Tl oe+U6 /25
- po 4324+ 0.0
[ p1 -35.54  0.00

TP delay [ns]

TVC(c,b Ch) (6, 3 14

T rnuizulie+us/ 25
- pD 4279+ 0.0
| pl -35.97 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,3,3

A1 nuiLBz1e+ud [ 25
- po 4274+ 0.0
pL -35.69+ 0.00

TP delay [ns]

TVC(c,b ch) (6 3,7

= 1 nuiL 113e+U5 / 25
[es po 4301+ 0.0
p1 -35.55+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 3

T sz4e+u6/25
- pO 4305+ 0.0
pl -35.37 + 0.00

TP delay [ns]

TVC(c,b ch) (6, 3 15

T 1nuiz r29e+U5/ 25
= po 4295+ 0.0
p1 -36.19 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,0)

AT nun 1 se+ud /25
- po 4256+ 0.0
pl -35.87 + 0.00

TP delay [ns]

TVC(cbch) (64,4

- L rge+ud [ 25
= 4241+ 0.0
-33.93+ 0.00

[ C =29.47 [ps/ch] ]

50 10‘0
TP delay [ns]

TVC(cbch) (6 4,8

T nuig.b3ve+u4 / 25
- pO 4247+ 0.0
p1 -35.41+ 0.00

TP delay [ns]

TVC(cbch) (64,12

© i sz4e+05 / 25
= po 4273+ 0.0
pl -33.37+ 0.00

[ C=29.96 [ps/ch] ™ 1]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,1

x- 1 i Guae+ud | 25
== po 4234+ 0.0
pL -35.36+ 0.00

TP delay [ns]

TVC(c,b ch) (6 4,5

= 11U Ygbe+u4 / 25
- pO 4241+ 0.0
p1 -34.71% 0.00

TP delay [ns]

TVC(c,b ch) (6 4,9

T nuiL43ze+U5 / 25
= po 4263+ 0.0
p1 -35.01+ 0.00

TP delay [ns]

TVC(C, bch) (64,13

T nun 1 uve+us /25
= pO 4273+ 0.0
p1 345+ 0.0

I C =28.98 [ps/ch]

PR BRSNS |
50 100

TP delay [ns]

4000
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1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,2)

A~ 1nuzuore+ud /25
__— po 4249+ 0.0
o pl -35.99+ 0.00

3000

TP delay [ns]

TVC(cbch) (64,6

- 1nuzu11e+u4 / 25
- pO 4246+ 0.0
[ pl -35.17+ 0.00

TP delay [ns]

TVC(cbch) (6, 4 10

~ 1 nu.y1ve+Us / 25
__ DO 4289+ 0.0
L pl -34.57 + 0.00

TP delay [ns]

TVC(cbch) (64,14

~1nup.513e+U4 / 25
- pD 4281+ 0.0
5 pl -33.53+ 0.00

- C =29.83 [ps/ch] ™. 7

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,3

AT 1 nuzugoe+ud [ 25
- po 4263+ 0.0
pl -35.59 + 0.00

TP delay [ns]

TVC(c,b ch) (6 4,7

-1 nug 13be+04 / 25
- pO 4256+ 0.0
p1 -34.73+ 0.00

[ C =28.79 [ps/ch]

50 1(;0
TP delay [ns]

TVC(c,b ch) (6, 4

Sy, /zue+u5/25
4271+ 0.0
-33.56 + 0.00

[ C=29.79 [ps/ch] ™_ ]

1
50 100

TP delay [ns]

TVC(C, bch) (64,15

-1 nai zoze+U5 / 25
= 4278+ 0.0
-34.38 + 0.00

[ C=29.09 [ps/ch] ]

PR PR S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5.0)

T L4ve+ud /25
- pO 4261+ 0.0
p1 -35.61+ 0.00

TP delay [ns]

TVC(cbch) (65,4

[ C =29.37 [ps/ch]

- 1B, yag4e+u4 [ 25
= pO 4254+ 0.0
p1 -34.05+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (6 5,8

-z bose+ud [ 25
= pD 4274 0.0
p1 -35.64 + 0.00

TP delay [ns]

TVC(Cbch) (6, 5 12

T z00e+U5/ 25
= po 4279+ 0.0
pl -35.43+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,1)

A i 71ie+ud | 25
e, po 4272+ 0.0
pL -35.55 & 0.00

TP delay [ns]

TVC(c,b ch) (6 55

-1 nug 383e+04 / 25
== 4251+ 0.0
-33.88 + 0.00

[ C=29.51[ps/ch] . ]

50 150
TP delay [ns]

TVC(c,b ch) (6 59

T inun 2.40e+05 / 25
= po 4267+ 0.0
pl -35.05+ 0.00

TP delay [ns]

TVC(c,b Ch) (6, 5 13

T inanzoze+u5 /25
- pO 4302+ 0.0
p1 -35.87+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,2)

TP delay [ns]

TVC(cbch) (6,56

X~ 1 L 8ype+u4 [ 25
- po 4285+ 0.0
[ p1 -36.34 £ 0.00

3000

- U 318e+04 / 25
fo, pO 4265+ 0.0
[ p1 -34.02+ 0.00

- C = 29.39 [ps/ch] ™.

50 10'0
TP delay [ns]

TVC(eb,ch)=(6, 5, 10

11y, pYpe+Us / 25
- po 4289+ 0.0
- pl -35.36+ 0.00

TP delay [ns]

TVC(cbch) (6,5,14

-1 nuiLzupe+U5 / 25
F-. pD 4275+ 0.0
| -34.95+ 0.00

F C = 28.61 [ps/ch]

PR R R S R |
50 100

TP delay [ns]

4000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,3

A~ 1 nuiLbBse+ud / 25
- po 4267+ 0.0
pL -34.71+ 0.00

[ C =28.81[ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (6 57

= iy b3ze+ud | 25
= po 4267+ 0.0
pl -34.93+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 5

RIS z//e+u6/25
= pO 4293+ 0.0
p1 -35.21+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 5 15

1 nui s4ve+U5 / 25
e po 4290+ 0.0
p1 -35.87 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,0)

A7 1nui suse+ud / 25
po 4255+ 0.0
pl -35.26+ 0.00

TP delay [ns]

TVC(cbch) (6.6,4

- i bBle+ud / 25
pO 4239+ 0.0
p1 -34.85+ 0.00

[ C=28.69 [ps/ch]™,_ 7
% o
TP delay [ns]

TVC(cbch) (6 6,8

1, rgve+u4 | 25
pO 4274+ 0.0
pl -35.49+ 0.00

TP delay [ns]

TVC(cbch) (6,6,12

- i yzye+U5 / 25
pO 4288+ 0.0
pl -35.57 + 0.00

TP delay [ns]

4000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,1)

X~ 1oe+ud /25
Fee=, po 4266 + 0.0
pL -35.68+ 0.00

TP delay [ns]

TVC(c,b ch) (6 6,5

-1 nu.Z3ye+u4d [/ 25
e, pO 4266+ 0.0
p1 -36.14 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 6,9

T nug 153e+U5 / 25
4298+ 0.0
-34.63 + 0.00

[ C =28.88 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(C, bch) (6,6,13

Tinan g 3ve+us /25
- pO 4281+ 0.0
pl -35.41+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000
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p1 -35.16 £ 0.00

TP delay [ns]

TVC(cbch) (613,13

T inuz s19e+ud [ 25
- pO 4237+ 0.0
pl -34.18 + 0.00

[ C =29.26 [ps/ch]

PR BRSNS |
50 100

TP delay [ns]

TVC(c,b,ch)=(6, 13, 2)

4000

2000

1000

T AT 1nw 0420/ 25
F-. po 4266+ 0.0
- pl -36.24 + 0.00

3000

TP delay [ns]

TVC(cbch) (6.13,6

4000

3000

2000

1000

-1 nuiLy4ye+u4 [ 25
= pO 4226+ 0.0
[ pl -35.38+ 0.00

TP delay [ns]

TVC(cbch) (6, 13 10

4000

3000

2000

1000

1L yobe+Us / 25
-, po 4266+ 0.0
- pl -33.81+ 0.00

- C = 29.58 [ps/ch] ™. 1

0

1
50 100

TP delay [ns]

TVC(cbch) (6,13, 14

4000

3000

2000

1000

T rnuizgsie+ud [ 25
pD 4256+ 0.0
pl -34.75+ 0.00

- C = 28.77 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (6,13,3)

AT rnuzulse+ud [ 25
po 4272+ 0.0
pl -36.31+ 0.00

1
100

TP delay [ns]

TVC(c, bch) (6,137

-1 nuz.ubye+us / 25
pO 4251+ 0.0
pL -35.61+ 0.00

1(;0
TP delay [ns]

TVC(cbch) (6, 13 1

T inuiLpl/e+u5 /25
po 4288+ 0.0
pl -36.03 + 0.00

TP delay [ns]

TVC(cbch) (613,15

T nuizb4ye+ud [ 25
po 4257+ 0.0
p1 -35.2+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 =,

3000

2000

1000

TVC(CbCh) (6, 14 0)

T rnuiLpLse+ud [ 25
- pO 4256+ 0.0
p1 -35.78 + 0.00

TP delay [ns]

TVC(Cbch) (6, 14 4

Tnun 1 rse+ud [ 25
- pO 4258+ 0.0
p1 -35.27:+ 0.00

50 10'0
TP delay [ns]

TVC(eb,oh)=(6, 14,8

T 4.30e+04 /25
- pO 4234+ 0.0
pl -33.77 + 0.00

[ C =29.61 [ps/ch]

0

1
50 00

TP delay [ns]

TVC(c,b ch) (6, 14 12

T, 1yze+U5 / 25
po 4259+ 0.0
pl -35.05+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (6,14,1)

AT 1w ry1e+u4 /25
e, po 4256+ 0.0
pl -35.45+ 0.00

TP delay [ns]

TVC(c,b Ch) (6, 14 5

-1 nug 148e+04 [ 25
- pO 4265+ 0.0
p1 -36.42:+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 14

-/ U 335e+U5 ] 25
pO 4249+ 0.0
pL -33.87+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 14 13

— T nui149e+U5/ 25
= pO 4246+ 0.0
pl -35.75+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000
3000
2000

1000

4000 =
3000
2000

1000

4000 =,
3000
2000

1000

TVC(CbCh) (6,14,2)

A1 nuzuure+ud /25
_- po 4260+ 0.0
[ p1 -35.7+ 0.0

TP delay [ns]

TVC(c,b ch) (6, 14 6

-1 nuz 205e+04 [ 25
4279+ 0.0
-36.6+ 0.0

TP delay [ns]

TVC(c,b ch) (6, 14 10)

1 nuiLUsbe+U6 / 25
po 4251+ 0.0
p1 33,76 0.00

TP delay [ns]
TVC(c,b Ch) (6, 14 14

T rnuizuz1e+U5 / 25
pD 4267+ 0.0
pl -36.18+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (6,14,3)

A~ 1 nuizugze+ud [ 25
= po 4279+ 0.0
pL -35.45+ 0.00

TP delay [ns]

TVC(c,b Ch) (6, 14 7

-1 nui zzoe+U5 / 25
- pO 4294+ 0.0
p1 -36.79+ 0.00

50 160
TP delay [ns]

TVC(c,b ch) (6, 14 11

71 nuiL 348e+U6 / 25
pO 4259+ 0.0
p1 -34.49 + 0.00

TP delay [ns]

TVC(cbch) (6, 14 15

-1 nuiz oyse+Us / 25
po 4254+ 0.0
-35.49+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (6, 15 0)

T rnuizusse+ud | 25
pO 4206+ 0.0
pl -35.94 + 0.00

TP delay [ns]

TVC(cbch) (6,154

T i1 bbe+usd /25
pO 42254 0.0
p1 -34.34+ 0.00

[ C=29.12 [ps/ch]™,_ ]
% o
TP delay [ns]
TVC(c,b, ch) (6, 15 8) -
T nuig b5 e+U4 5
e, pO 4265:‘
pl -33.84+ 0.00

[ C =29.55 [ps/ch] ™.

0

50

1
100

TP delay [ns]

TVC(cbch) (6,15, 12

T 1nuiz4nze+04 | 25
pO 4345+ 0.0
pl -37.08 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (6,15,1)

x- 1 L yZae+Ud | 25
po 4206 + 0.0
pL -34.92:+ 0.00

1
100

TP delay [ns]

TVC(cbch) (6,155

[ C =29.50 [ps/ch] 7

-1 nui bz4e+u4 [ 25
4237+ 0.0
-33.9+ 0.0

50

1(;0
TP delay [ns]

TVC(c,b ch) (6, 15

[ C =29.09 [ps/ch] ™,

T nusug/e+ud [ 25
po 4283+ 0.0
p1 -34.37 + 0.00

50

1
100

TP delay [ns]

TVC(cbch) (615,13

Tinuzarie+ud 25
pO 4338+ 0.0
pl -36.71+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000
3000
2000

1000

TVC(CbCh) (6,15,2)

AT 1nug 13se+04 /25
po 4213+ 0.0
pl -35.12+ 0.00

TP delay [ns]

TVC(cbch) (6.15,6

-1 Ui bose+ud / 25
po 4249+ 0.0
pl -34.79+ 0.00

10‘0
TP delay [ns]

TVC(cbch) (6, 15 10

- C = 28.98 [ps/ch] ™.

©nun,3y3e+ud | 25
po 4305+ 0.0
-34.51+ 0.00

0

50

1
100

TP delay [ns]

TVC(cbch) (615,14

T rnuizpure+ud [ 25
pD 4335+ 0.0
pl -36.15+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (6,15,3)

AT rnuiLyuse+ud [ 25
po 4231+ 0.0
pl -35.91+ 0.00

1
100

TP delay [ns]

TVC(c, bch) (6,15, 7

[ C=29.68 [ps/ch] . ]

=11 bBbe+u4 / 25
pO 4252+ 0.0
-33.7+ 00

50

1(;0
TP delay [ns]

TVC(cbch) (6, 15 1

[ C =29.53 [ps/ch] ™. ]

T nu.ysbe+ud / 25
po 4293+ 0.0
pl -33.86 + 0.00

_L
50

1
100

TP delay [ns]

TVC(cbch) (615,15

<1 nuiz oope+ud [ 25
po 4344+ 0.0
p1 -36.67 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,0,0)

A7 1 nuig tose+ud / 25
4251+ 0.0
-36.41+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (70,4

[ C=29.21 [ps/ch]

- 1L ys3e+ud / 25
- pO 4230+ 0.0
pl -34.24+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (7 0,8

T, (zze+04 | 25
- PD 4265+ 0.0
pl -35.46 + 0.00

TP delay [ns]

TVC(cbch) (7,0,12

L ire+u5 /25
= pO 4295+ 0.0
pl -37.58 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,0,1

AT 1nugLrze+u4 | 25
- Y 4252+ 0.0
p1 -36.36 + 0.00

TP delay [ns]

TVC(c,b ch) (7 0,5

S nunz.z1e+04 /25
- DU 4248+ 0.0
pL -34.97 + 0.00

TP delay [ns]

TVC(c,b ch) (7 0,9

T nayzzze+u4 [ 25
- DO 4268+ 0.0
pl -36.14 + 0.00

TP delay [ns]

TVC(C, bch) (7,0,13

T 1 e, 5o5e+u4 / 25
F= pO 4289+ 0.0
pl -37.07 + 0.00

TP delay [ns]

4000
3000
2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (7,0,2)

X~ 1w ss4e+04 [ 25
po 4262+ 0.0
pl -36.3+ 0.0

TP delay [ns]

TVC(cbch) (7.0,6

- C = 29.09 [ps/ch]

-1z 480e+04 [ 25
- pO 4240+ 0.0
I pl -34.38:+ 0.00

3000

50 10‘0
TP delay [ns]

TVC(cbch) (7, 0 10

T 4.35e+05 / 25
- DO 4300+ 0.0
L pl -36.44 + 0.00

3000

TP delay [ns]

TVC(cbch) (7,0,14

T zyze+U5 /25
- PD 4295+ 0.0
F pl -37.97 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,0,3

AT 1 nuiz,ooYe+u4 / 25
- po 4254+ 0.0
p1 -35.99 + 0.00

TP delay [ns]

TVC(c,b ch) (7 0,7

[ C =28.72 [ps/ch]

Snun g ze+u4 [ 25
- PO 4265+ 0.0
pL -34.82+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (7, O

ERALEN bd/e+U5/25
- pO 4293+ 0.0
pl -35.76 + 0.00

TP delay [ns]

TVC(C, bch) (7,0,15

Tz 1/e+05/ 25
= PO 4300+ 0.0
pl -37.16 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,1,0)

X~ 1w su4e+U4 [ 25
PO 4232+ 0.0
pl -35.53+ 0.00

TP delay [ns]

TVC(cbch) (7.1,4

T i1 bae+u4 /25
pO 4280 0.0
-35.9+ 0.0

50 10‘0
TP delay [ns]

TVC(eb,oh)=(7, 1,8

1z 3z9e+04 | 25
PD 4283+ 0.0
pl -35.37 + 0.00

TP delay [ns]

TVC(cbch) (7,1,12

T nug opLe+ud / 25
PO 4280+ 0.0
pl -35.09 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (71,1

AT 1 nuzuLse+u4 25
- po 4248+ 0.0
Pl -36.38% 0.00

TP delay [ns]

TVC(c,b ch) (7 1,5

- nui /obe+u4 [ 25
- pO 4274+ 0.0
pL -35.33+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 1

-1 nug gboe+ud / 25
DO 4291% 0.0
pl -34.45 + 0.00

[ C =29.03 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (71,13

Trnug.z/ye+u4 [ 25
- po 4277+ 0.0
pl -35.33 + 0.00

TP delay [ns]

TVC(cbch) (7,1,2)

4000

2000

1000

TP delay [ns]

TVC(cbch) (7.1,6

4000

3000
2000

1000

T rnubzie+u4 [ 25
- pO 4288+ 0.0
L 356+ 0.0

S Zute+ud [ 25
- PO 4250+ 0.0
r pl -36.51+ 0.00

3000

TP delay [ns]

TVCebeh)=(7, 1, 10

4000

3000

2000

1000

~ a8 9e+U5 / 25
™ DO 4294+ 0.0
L pl -33.1+ 0.0

FC =30.22 [ps/ch] “=._

0

1 1
50 100

TP delay [ns]

TVC(cbch) (7.1,14

4000

3000
2000

1000

T 3.84e+u4 [ 25
- PD 4282+ 0.0
F pl -35.72+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,1,3

AT 1nuz213e+U4 /25
F PO 4279 0.0
p1 -36.14 + 0.00

TP delay [ns]

TVC(c,b ch) (7 1,7

© U 33be+04 / 25
- PO 4295+ 0.0
pL -35.81+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 1

1)
1 nu.ugbe+us / 25
pO 4307 £ 0.0
pl -34.44 + 0.00

[ C =29.04 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (71,15

Ty 3uLe+u4 [ 25
- po 4282+ 00
pl -35.15+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (7,2,0)

A7 onun g gre+ud [ 25
po 4263+ 0.0
p1 -36.12+ 0.00

TP delay [ns]

TVC(cbch) (72,4

T z.31e+04 / 25
pO 4242+ 0.0
p1 -35.18:+ 0.00

- C =
o+ o
TP delay [ns]
TVC(cbch) (7 2,8

- i Zane+ud | 25
po 4202+ 0.0
p1 -37.38+ 0.00

TP delay [ns]

TVC(cbch) (7,212

-1 nui (1ae+U5 [ 25
po 4267+ 0.0
p1 -35.91+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,2,1)

o tsaerud | 25
pO 4248+ 0.0
pL -36.08:+ 0.00

TP delay [ns]

TVC(c,b ch) (7 2,5

< nun Zy1e+u4 /25
po 4263+ 0.0
pl -36.01+ 0.00

50 150
TP delay [ns]

TVCebeh)=(7,2,9

1 nuis.y4pe+U5 / 25
pO 4285+ 0.0
p1 -35.27 + 0.00

TP delay [ns]

TVC(c,b Ch) (7, 2 13

<1 nuiLbyze+U5 / 25
pO 4264+ 0.0
p1 -35.67 + 0.00

TP delay [ns]

4000

2000

4000

2000

1000

4000

2000

4000
3000
2000

1000

TVC(cbch) (7,2,2)

1000

X~ 1 i 9yse+ud [ 25
-, po 4257+ 0.0
L pl -36.47 + 0.00

3000

TP delay [ns]

TVC(cbch) (7,26

- C = 29.04 [ps/ch]

-1z byse+ud [ 25
e pO 4243+ 0.0
[ p1 -34.44 + 0.00

3000

50 10'0
TP delay [ns]

TVC(c,b, ch) (7, 2 10

1000

1 nuiL338e+U6 / 25
= po 4297+ 0.0
L p1 -36.48 + 0.00

3000

TP delay [ns]

TVC(cbch) (7,214

1z 509e+U5 / 25
pD 4276+ 0.0
pl -35.34+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (72,3

A~ 1 nuiz, 1s0e+ud | 25
- po 4270+ 0.0
pL -35.99:+ 0.00

TP delay [ns]

TVC(c,b ch) (7 2,7

= 1 nu oze+04 | 25
= po 4266+ 0.0
p1 -35.87 + 0.00

TP delay [ns]

TVC(c,b ch) (7,2,

T baue+u6/25
= pO 4302+ 0.0
p1 -37.28+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 2 15

1 nug. zgoe+U5 / 25
- po 4278+ 0.0
p1 -35.42 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,3,0)

A7 nun suze+ud [ 25
4243+ 0.0
-35.89 0.00

TP delay [ns]

TVC(cbch) (7.3,4

T Ly /e+ud / 25
4234+ 0.0
-35.5+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (7 3,8

T a5 roe+u4 [ 25
4252+ 0.0
-36.09 + 0.00

TP delay [ns]

TVC(cbch) (7,312

i

po
p1

1.1e+U5/25
4269+ 0.0
-36.26 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,3,1)

A 2

e, po
pL

vie+ud /25
4254+ 0.0
-37.12+ 0.00

TP delay [ns]

TVC(c,b ch) (7 3,5

=1 nui Yobe+ud / 25
4246+ 0.0
-36.23 + 0.00

TP delay [ns]

TVC(c,b ch) (7 3,9

= po

© 1 nuig 330e+U5 / 25
4266+ 0.0
-36.55 + 0.00

TP delay [ns]

TVC(C, bch) (7.3,13

= pO

Tinurn3/e+ud [ 25
4260+ 0.0
-36.09 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (7,3,2)

= PO

pl

A~ 1nuiLyore+ud /25
4259+ 0.0
-36.19+ 0.00

TP delay [ns]

TVC(cbch) (73,6

= po

p1

T rnuz,u8/e+u4 [ 25
4249+ 0.0
-35.78 + 0.00

TP delay [ns]

TVC(cbch) (7, 3 10

1000

0

= 90

1 nuip,uube+US / 25
4282+ 0.0
-36.85+ 0.00

pl

TP delay [ns]

TVC(cbch) (7.3 14

pD
pl

T rnuiLzize+U5 /25
4263+ 0.0
-35.87 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b ch) (7,3,
- %
pl

3

nuiz,.zyze+u4 | 25
4259+ 0.0
-36.36 + 0.00

TVC(c,b ch) (7 3,7

-

1
100

TP delay [ns]

nuz 194e+04 / 25
4252+ 0.0
-35.27 + 0.00

= po
pL
[ C =28.35[ps/ch] ]
& o
TP delay [ns]

TVC(c,b ch) (7, 3

. pO

Ty, bbée+l}5/25
4286+ 0.0
-36.47 + 0.00

pl

TP delay [ns]

TVC(c,b ch) (7,3,

X1

15

nuiL, 711e+05 / 25
4275+ 0.0
-35.74 + 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

TVC(cbch) (7,4,0)

e, po

K™ 1nuig Szae+04 | 25
4245+ 0.0
p1 -35.84 + 0.00

TP delay

TVC(cbch) (7 4,4

[ns]

- 1L BuYe+ud / 25
4268+ 0.0
pl -35.63+ 0.00

p1

= pO
3000 ]
2000 ]
1000 C 7]
1 1 -
50 100
TP delay [ns]
TVC(cbch) (7,4.8)
T nug, 13ze+u4 / 25
4000 [, pD 4268+ 0.0
-34.79+ 0.00
3000 - ]
2000 |- ]
10r C =28.74 [ps/ch]™_ 7
1 1 -
b 50 100
TP delay [ns]
TVC(c,b ch) (7, 4 12)
- 11w $.4be+U5/ 25
4000 fo po 4267+ 0.0
-35.9+ 0.0

3000

2000

1000

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,4,1)

e, po

A7 1 nuiz,oo0e+u4 [ 25
4240+ 0.0
-35.07 + 0.00

p1

TP delay [ns]

TVC(cbch) (7,4,5

nut

p0
pl

4055/ 25
4269+ 0.0
-35.24 % 0.00

TP delay [ns]

TVC(c,b ch) (7.4,9

pO
pl

T nuiL 129e+U6 / 25

4276+ 0.0
-34.78 + 0.00

I C =28.75 [ps/ch]

1
50 00

TP delay [ns]

TVC(c,b Ch) (7, 4 13

Tinui1z/e+U5/ 25
4274+ 0.0
-35.23+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000
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